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9 100kN/mM##BZ % 1.00/0.00 ~ 0.01 100.20[3mZEBZBH| - ~ - - -| 100kN/MZE#B 2% 1.00| 1246 ~ 1250 100.20|3m%#BZ % -~ - - -
ZThES 1.00/ 001 ~ 7.80 100.00] Zhust 000 ~ 7.80|] 252 13.48 ZTh LSt 1.00] 500 ~ 1246 100.00f Zh it | 500 ~ 12.50| 252 13.48
3 100kN/mM#%# 8% % 1.00/0.00 ~ 0.64 109.49|3mZ#BZB| - ~ - - -| 100kN/iZi#8 % % 1.00| 12.79 ~ 15.00 109.49|3m%i#BZ % -~ - - -
ZTh LS 1.00[064 ~ 842 100.00] #hlist | 000 ~ 842 277 14.80 Zh LS 1.00] 500 ~ 1279 100.00f #hlist | 500 ~ 15.00| 277 14.80
4 100kN/mM#%# 8% % 1.00/0.00 ~ 064 109.50|3mZE#BZB| - ~ - - -| 100kN/iZi#8 % % 1.00| 11.23 ~ 13.10 109.50(3m%i#B% % -~ - - -
ZhLS 1.00[064 ~ 842 100.00] Zhust | 000 ~ 8.42| 238 12.76 Zh LS 1.00] 500 ~ 11.23 100.00f Zh it | 500 ~ 13.10] 2.38 12.76
6 100kN/mM#%#BZ % 1.00/ 000 ~ 288 145.63|3mZ#BZRDH| - ~ - - -| 100kN/iZi#8 % % 1.00| 10.60 ~ 27.00 145.63|3m%i#BZ 5 -~ - - -
ZThLS 1.00| 2.88 ~ 1067 100.00] #hlist | 0.00 ~ 10.67| 297 15.89 Zh LS 1.00] 500 ~ 10.60 100.00| #hlist | 500 ~ 27.00| 297 15.89
7 100kN/mM#%# 8% % 1.00/0.00 ~ 3.00 147.75|3m%#8% 5| 000 ~ 0.08| 3.04 16.29] 100kN/m%Z# x5 1.00[ 1053 ~ 26.57 147.75|3m%#B% 5| 25.00 ~ 26.57| 3.04 16.29
ZTh LS 1.00/ 3.00 ~ 10.79 100.00] #h st 008 ~ 10.79] 3.00 16.05 Zh LS 1.00] 500 ~ 1053 100.00f #h st | 5.00 ~ 25.00| 3.00 16.05
8 100kN/mM#%# 8% % 1.00/0.00 ~ 260 140.93|3mZi#BZRB| - ~ - - -| 100kN/iZi#8 % % 1.00| 10.68 ~ 2451 140.93|3m%i#BZ 5 -~ - - -
ZhLS 1.00| 2.60 ~ 10.39 100.00| #hLi%t | 000 ~ 10.39] 261 13.95 Zh LS 1.00] 500 ~ 10.68 100.00f Zhlist | 500 ~ 2451| 261 13.95
9 100kN/mM##BZ % 1.00{0.00 ~ 274 143.19|3m%EHB %% -~ - - -| 100kN/ %8z % 1.00| 10.76 ~ 27.30 143.19|3m%E#B %% -~ - - -
ZnLst 1.00| 2.74 ~ 10.52 100.00] Zh1 st | 0.00 ~ 10.52] 2.91 15.58 Zzh st 1.00f 500 ~ 10.76 100.00f ZH1list | 5.00 ~ 27.30] 2.91 15.58
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
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100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
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